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CONTENT ,
UNIT 1 LINEAR NETWORK
UNIT 2 NETWORK TRANSIENT ANALYSIS—WITH STATE
VARIABLE METHOD
UNIT 3 SINUSOIDAL STEADY—STATE ANALYSIS

WHICH UNIT WOULD YOU PREFER?

FMBIEGE B SN ETE, WATERRE T2, HEHXEBR
THIS IS UNIT 2, WHICH PRACTICE WOULD YOU PREFER?
T 3, HEVEBTR
THIS IS FRACTICE 2—3, WHICH PROBLEM WOULD YQU LIKE TO
DO?
T2, HHENBTR
THIS IS PROBLEM 2—83—2
BETERFABREHFHTE,
L X—BonER, LA,
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THS IS PROBLEM 1—1—1

PLEASE SET UP THE EQUATION IN THE FORM OF
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G5=58

AxV1+B*V2+CxV3=1I
PLEASE SET UP THE FIRST EQUATION AT NODE 1¢
ARG ERBIRGRAGURATR L AR, EHBRER, HENER
IT IS RIGHT,Pi,EASE SET UP THE SECOND EQUATION AT NODE 2¢
EWARFRAES, 1 EZNER
IT IS WRONC, PLEASE SET UP THE FIRST EQUATION AT NODE 17
HIERZAFH—RK, HEFEZKHGAT AL TERE SREHH, MRXRKENT, REBR
IT IS RIGHT, PLEASE SET UP TI'F, SECOND EQUATION AT NODE 2¢
MBXEET, WENERENRWNEE, EIGAEITN TR,
IT IS WRONG
THE RIGHT EQUATION IS
3xVI-2%V2=-10 ,
PLEASE SET UP THE SECOND EQUATION AT NODE 2 ¢
FAERE FMATAR2HE, HENEREHNNZE, BRBRETEHONIE, - 3
EE=ZMWATERE, AR 25 RBREE
SO THE EQUATIONS OF PROBLEM 1—1—1 ARE
3%V1-2%xV2=-10
~2%V1+9%V2-4%V3=0
-4%V2+9%xV3=10
BTX, MEHANTRESN, HENBR
ALL YOUR EQUATIONS ARE RIGHT

MR MET 8K (EXREHHEZANTEATE, BERSTLUFANKTE) , Wit ZHBR
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YOU SET UF ¢ WRONG EQUATIONS
WRMBET A RR UL, #in# 8T 5%, WHENER
YOU SET UP 5 WRONG EQUATIONS, YOU OUGHT TO REVISE

«NODAL ANALYSIS)H

FELGH, THEYRA
THIS IS PRACT:(E 1—1, WHICH PROBLEM WOUTD YOU LIKE TO

DO2
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R=R0ND
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Ve=105IN 100t 1 L =_Q.02h,

MG RAE . (0 =0
Ve(0) =0

Es5

AL RN AR, KKITEE2, 2, S/ITEVER
THS IS PROBLEM 2—2—3
CHOOSE V(C, 1L AS THE STATE VARIABLES, PLEASE SET UP
THE EQUATIONS IN THE FORM OF,
VC' =A1%VC+Bl1*IL+C1%U
I/ =A2*%*VC+Bz*IL+C2%xU
Al, A2, B1l, B2, C1, C2=CONSTANTS
U=INPUT
vc! =DERIVATIVE OF vVC
IL’ =DERIVATIVE OF IL
?
PARIE TEORR BATEA (EZ/HMHR)
OB _PFHEELX, IHENBR
THE EQUATIONS ARE RIGHT
NOW YOU CAN SOLVE THE EQUATIONS
CAN YOU WRITE THE PROGRAM? PLEASE ANSWER ¢‘YES’ OR
‘NO* 7
MREETH YES
MABER, BEEEEE, HENER
THS IS PRACTICE 2—2, WHICH PROBLEM WOQULD YOU LKE TO
DO¢ '
mRFE AT NO
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WHENERREBOEF (LE)
GDEMANFENFTERLY, HENER
YCUR EQUATIONS ARE NOT ALL CORRECT
CHOOSE VC, IL AS THE STATE VARIABLES, PLEASE
SET UP THE STATE EQUATIONS IN THE FORM OF,
VC =A1*VC+B1%IL+C1%U
IL =A2%xVC+B2%IL+C2%xU
Al, A2, B1, B2, C1, C2=CONSTANTS
U=INPUT
VC’ =DERIVATIVE OF VC
IL’ =DERIVATIE OF IL
?
MEXKMAN T RBALYN, HENBROGOHE SHE, NWBREARYSTEA
YOUR EQUATIONS ARE NOT ALL CORRECT
THE RIGHT EQUATIONS ARE
VC' =-1/(R*%¥C)*VC-1/C*IL+1/(R*%C)*V
IL =1/L%VC
SINCE R=2, C=0,01, L=0,02, V=10%SIN(100%T)
SO VC' = -50%xVC-100%IL +500 * SIN(100% T)
IL =50%VC '
NOW YOU CAN SOLVE THE EQUATIONS
CAN YOU WRITE THE PROGRAM? PLEASE ANSWER ‘YES’ OR
*‘NO’ ¢
MEREETH  YES
M —k, FEVRBBE%FE, mRFETHF  NO
R BB RN TRBEFREESEER, REHEAENSS, REMELE
YOU CAN SOLVE THE EQUATIONS USING THE FOLLOWING
PROGRAM
LET X=T, Y=VC, Z=1IL, H=STEP
10 X0=0:Y0=0:Z0o=0:H=0,01:X=X0:Y=Y0:Z=%0
20 PRINT «T” , 4VC”, «IL” :PRINT X, Y, Z:FOR I=0 TO 600
30 P=Y:Q=Z:GOSUB 200: Ki=H*F1:L1=H*F2:P=Y+K1:Q=
Z+L1:X=X+H
40 GOSUB 200: K2=H*F1 :L2=H*%F2:Y=Y+X1+K2)/2:Z=2+
(L1+L2)/2
50 PRINT X, Y, Z:NEXT I:END
200 F1= -50%P —100% Q+500%SIN (100% X) : F2=50%P : RETURN
IF YOU WANT TO PLOT VC (OR IL) VERSUS T, REPLACE LINE 59
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WITH
50 SET (100%X, 46) : SET(100*X, 46— Y= 6) : NEXT I:END
OR 50 SET (100%X, 46) : SET(100*X, 46-Z% 6) : NEXT 1: END

THIS IS PRACTICE 2—2, WHICH PROBLEM WOQULD YOU LIKE
TO DOz7. '
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